
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

9329.3 × 0.0001 = ________ 1238 × 0.001 = ________

6031.1 × 0.001 = ________ 1405 × 0.1 = ________

6991 × 0.001 = ________ 3457 × 0.01 = ________

1869 × 0.1 = ________ 5769.3 × 0.0001 = ________

5083.1 × 0.1 = ________ 9295.7 × 0.0001 = ________

9992.5 × 0.001 = ________ 9855 × 0.01 = ________

8161 × 0.001 = ________ 3302.7 × 0.1 = ________

4815.1 × 0.1 = ________ 4715.1 × 0.001 = ________

2489.8 × 0.01 = ________ 4162 × 0.001 = ________

5789.2 × 0.1 = ________ 4604.8 × 0.001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

9329.3 × 0.0001 = 0.93293 1238 × 0.001 = 1.238

6031.1 × 0.001 = 6.0311 1405 × 0.1 = 140.5

6991 × 0.001 = 6.991 3457 × 0.01 = 34.57

1869 × 0.1 = 186.9 5769.3 × 0.0001 = 0.57693

5083.1 × 0.1 = 508.31 9295.7 × 0.0001 = 0.92957

9992.5 × 0.001 = 9.9925 9855 × 0.01 = 98.55

8161 × 0.001 = 8.161 3302.7 × 0.1 = 330.27

4815.1 × 0.1 = 481.51 4715.1 × 0.001 = 4.7151

2489.8 × 0.01 = 24.898 4162 × 0.001 = 4.162

5789.2 × 0.1 = 578.92 4604.8 × 0.001 = 4.6048
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